Lecture – 8

Utility 

The term utility refers to the benefit or satisfaction or pleasure a person gets from the consumption of a commodity or service. In abstract sense, utility is the power of a commodity to satisfy human want, i.e. utility is want satisfying power. 
According to Alfred Marshal, “Utility is measurable in term of a money value of the product or service.”
A commodity is likely to have utility if it can satisfy a want. For example, rice has the power to satisfy hunger, water quenches our thrust and book fulfils our desire for having knowledge, and so on.   
Characteristics of Utility:  The following characteristics of the concept utility must be emphasized:
Utility and Usefulness are not Synonymous: Usefulness is not necessary for a commodity to satisfy one’s want. A useless commodity may yield substantial utility. For example, paintings by Picasso by may be useless in a functional sense and yet be of tremendous utility to art connoisseurs.

Utility is a Subjective Notion: The utility of a specific product varies widely from person to person. All persons need not derive utility from all commodities. For example, non-smokers do not get utility from smoking.
Utility is Ethically Neutral: Utility is neutral between good and bad and between useful and harmful. For example, opium is bad and harmful, but it yields utility to the people who take it. Utility is free from moral values. It is not subject to social desirability of consuming a good.
Measurability of Utility: Utility is an abstract concept. It can not be observed or touched anyway. That’s why; the measuring units of this entity are arbitrary. Some economists have suggested that utility can be measured in monetary units while others suggested the measurement of utility in subjective units. On the contrary, some economists give the view that utility can be measured. 
We can measure utility derives from a commodity in terms of any other commodity. Thus we can define the utility of a commodity to a consumer as the amount of money he is willing to give up for it. For example, Mr. X decides to buy one chicken patty by Tk 10.00, he will not buy any chicken patty if the price is not lower than Tk 10.00. If he is offered to buy another 5 pieces of patties he is will to pay Tk 30.00 at a maximum. Then the total utility of five pieces of chicken patties to him is Tk 30.00. Here one thing is noticeable that though Mr. X is willing to pay Tk 10.00 for one piece of chicken patty, he is willing to spend Tk 30.00 only not Tk 50.00 = Tk 5 @ Tk 10.00 – for five pieces of chicken patties. This happens because he is willing to pay less for each additional piece of chicken patty, which indicates that he gets lower utility from additional unit.  
Total and Marginal Utility: Total utility refers to the amount of satisfaction from consumer’s entire consumption of a commodity. In the example cited earlier, Mr. X derives from the 1st, 2nd, 3rd, 4th and the 5th  pieces of chicken patties are Tk 10.00, Tk 9.00, Tk 7.00, Tk 4.00 and Tk 0.00 respectively. Therefore, the total utility derived from five pieces of chicken patties is Tk 30.00 = Tk 10.00 + Tk 9.00 + Tk 7.00 + Tk 4.00 + Tk 0.00.

On the contrary, marginal utility is the amount of utility a consumer derives from consuming the last i.e. marginal unit of commodity. In other word, utility that comes from the consumption of an additional unit.    
The Law of Diminishing Marginal Utility: The additional units of a specific commodity are worthless and less to a consumer as more of a commodity he/she consumes. In other words, marginal utility of a specific commodity declines as more of it consumed.
Assumptions: The assumptions upon which this law is based are as follows:

Given Time Period: Units of the commodity are consumed in a given time period. The period must be appropriate. If we drink five cans of cold drinks during the whole day, the idea of diminishing marginal utility will not hold. However, if anybody is asked to drink all of five the cans in one hour of time, then the idea of diminishing marginal utility makes sense.
Continual Consumption: The units of the commodity are consumed continually, but the time interval between the consumption of two units of the commodity must be appropriately short.

Normal Behavior of the Consumer: The consumer has a hierarchy of uses to which he/she will put a particular commodity. All of these uses are valuable, but some are more valuable than others.
Standard Units of the Commodity: The units of the commodity must be standard, i. e. a can of cold drinks, a glass of juice, a cup of tea, a pair of shoes, etc. If the units are excessively small or large, the law may not hold.

Consumption of Other Commodities is Given: During the other consumption of the commodity, the consumption of all other commodities remains constant.  
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